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Unit 1 - Quadratic Functions &
Relations

Finding Max/Min Values by
Completing the Square

Fob 3/701 7
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Finding Max/Min Values by Feb§/2019
Completing the Square
Standard Form Vertex Form
y=ax’*+bx+c complete y=a(x—h) +k
the square

Vertex is (h, k)

a > 0: opens up (has a minimum)
a < 0: opens down (has a maximum)

k is the optimal value (max or min value)

h is the x-value where the max/min occurs
X = h is the equation of the axis of symmetry
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Completing the Square Using Fractions:
Ex.1 Complete the square:

(@) y=3x*+2x-11

y=2(x+2x] -1l
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Ex.2 Find the optimal value of y=5x—-3x>+4
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It is permissible, and sometimes preferable, to
use terminating decimals (i.e., exact values):

Ex.3 Find the optimal value of y=-20x>+180x+ 4400
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Homework:

P15 # 1cgBk, 3od
1

'L(g‘) X aD¥x + ¢
2

0% _ 2

2 =24 (0-'*4.) =0.1b
C=0.1(
oR

z
"X +0%x ¢
s

= ‘f’lgx rae
=x'+ L x+c

2

ﬂ/‘xl—: > L\
S Z, g Kg\

Feb 1-7:30 PM

31) %:—Zqzz-—bﬁ'x -2

—-2[?(14— o.qx] -2

—

fg: 02 (0.2) = o0.04

= _2[32"' D.((')( +o.oL[J-D °"‘3 - Z

- -@o. oq\‘( -2

-2« 0.2) 400§ -2
= ’2(’\( +o.?j'—l, 9L

\](—b.z,—l.‘h Mgo\w\w \
J lf"/x ﬂ

ak 'x——-O.’&) Mox (6-—(.‘[1

)

Feb 11-12:39 PM



05x Max&Min by Completing the Square.notebook February 11, 2019

2. Lt x be He humbes

Y= Ix* —gx +3S

4= (% )" 419

\ (4, 19)
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